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H  W  P  7, Mrs Cameron and Mrs Beck are both 
in school teaching today so we will be unable to respond on Seesaw. 
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See picture below. 
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6 
× 
7 
= 

☐ 

3+17= 481+1429=      



24 
÷ 
4 
= 

☐ 

What is 
double 55?    
 

write one 
thousand 
and thirty 
two in 
digits 

4 
× 

☐ 
= 
28 

112+10= write 6253 
in written 
form 

24 
÷ 

☐ 
= 
4 

29-10= 0.35 
divided 
100 = 

7 
× 
6 
= 

☐ 

6=1+? (-6) x (-
10)= 

18 
÷ 
6 
= 

☐ 

58-11= Round 
81.4358 to 
2 d.p 

☐ 
× 
4 

73+73=?x73 
 

(-5) + (-5) = 



 
 

= 
4 

☐ 
÷ 
2 
= 
3 

102+1002= 1/4=3/? 

5 
× 
7 
= 

☐ 

7+3= 7x9= 

54 
÷ 
6 
= 

☐ 

?=46=100 9x9= 
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https://www.bbc.co.uk/bitesize/topics/zsxxsbk/articles/zxqr
dxs 
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